
Séquence de Nombres Linéaires (D)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 542 532 482 462Différence commune:2. 700 600 500 400Différence commune:3. 343 333 323 283 273Différence commune:4. 926 851 776 701 626 551 476Différence commune:5. 427 327 227Différence commune:6. 780 730 680 530 480Différence commune:7. 238 228 218 188 168 158 148Différence commune:8. 426 421 406 386 381Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (D) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 542 532 522 512 502 492 482 472 462 452Différence commune: -102. 1000 900 800 700 600 500 400 300 200 100Différence commune: -1003. 363 353 343 333 323 313 303 293 283 273Différence commune: -104. 926 851 776 701 626 551 476 401 326 251Différence commune: -755. 577 527 477 427 377 327 277 227 177 127Différence commune: -506. 930 880 830 780 730 680 630 580 530 480Différence commune: -507. 238 228 218 208 198 188 178 168 158 148Différence commune: -108. 426 421 416 411 406 401 396 391 386 381Différence commune: -5Mathslibres.com


